BiZs : H =

VEH (IL4dL — 8dL) .
ZEA

- FHEELITL LI,

® |l L — 8dL=

@ | L 4dL— 8 dL=

<V-E>
L dL

— dL
dL

@1 L 2dbL— 9 dL=

<UV-HE>
L dL

— dL
dL

@2 L 4dL+ | L 9dL=

<VD-E> L dL
+ L dL
L dL

@ LI % @j [5 %; [503))% @D i@@



é/@ 4&3@@3@ 18 | = A H
U *E (IL4dL — 8dL) -
2%

- FHEELFETL LI,

® 1l L — 8dL=10dL — & dL
= 2 dL

@1 L 4dbL— 8dL= I4dL — & dL

<UV-E>
\LL|4dL = 6 dL

— & dL
6 dL

@1 L 2dL— 9dL=12dL — 9 dL

<UO-E> |
L 2dL = 3 dL
— g dL
3 dL

@2 L 4db+ | L 9dL=4 L 3 dL

|
<ULB> o L 4

+ | L 9 dL
4 L 3 dL

@ b Bx % @i g @i @@3?\ @ ﬂvt



